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P2 0] 0 15° 30 45° 60 75 90 105° 120° 135 150° 165° 180°
0 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 1566 | 1566 | 1566 | 1566 | 1566
10° 391 478 542 692 939 | 1280 | 1476 | 1279 939 691 542 477 391
20° 193 188 201 274 457 1043 | 1703 | 1040 457 21 201 188 193
30° 160 145 157 180 234 607 | 1467 607 234 181 157 145 160
40 129 116 134 148 167 270 773 270 167 149 134 118 129
50° 15 20 35 75 85 95 146 95 85 75 35 22 15
60° 4 5 6 8 15 24 35 24 15 8 6 5 4
70° 1 2 2 3 5 7 5 3 2 2 1
80’ 0 0 1 1 1 1 1 1 0 0
90 0 0 0 0 0 0 0 0 0 0 0 0 0
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0 15° 30 45 60" 75° 90" | 105 | 1200 | 135 | 150" | 165 | 180°
1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566 | 1566

25° 17 160 171 212 306 815 | 1621 809 306 110 171 161 171
30° 160 145 157 180 234 607 | 1467 607 234 181 157 145 160
35 144 131 147 164 204 421 1139 425 204 163 147 132 144
40 129 116 134 148 167 270 713 210 167 149 134 118 129
45° 51 80 105 122 125 162 406 162 125 122 105 79 51
50° 15 20 35 15 85 95 146 95 85 75 35 22 15
55° 9 9 10 28 45 53 69 50 45 29 10 9 9
60" 4 5 6 8 15 24 35 24 15 8 6 5 4
65° 2 3 4 5 6 10 15 10 6 4 4 3 2
70° 1 2 2 3 3 5 1 5 3 3 2 2 1
75° 1 1 1 2 2 3 3 2 2 2 1 1 1
80° 0 0 1 1 1 1 1 1 1 1 1 0 0
85° 0 0 0 0 0 0 0 0 0 0 0 0 0
90’ 0 0 0 0 0 0 0 0 0 0 0 0 0
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